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MechanicaﬁAdvantage (MA) and Efficiency Practice Problems
Draw your Triangles!

1. What is the mechanical advantage when a force of 8 N is applied to
‘ a machine that exerts a force of 24 N?
Formula Set-up | Answer/Units
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2. What is the force applied on a machine that has a mechanical

advantage of 2 and a resistance or output force of 6 N?
Formula Set-up Answer/Units

Te= & [T 5N
TN 7
3. Calculate the efficiency of a machine that moves a 540 N object a

distance of 4 m and has an input work of 3,000 J?
Formula Set-up Answer/Units

ow o B0 T2
pio 3,000

4. What is the output work of a machine that is 56% efficient when a 9N
force is applied over a distance of 6 m? o
Formula Set-up Answer/Units

Blo x(anxm) 26T
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Mechanical Advantage (MA) and Efficiency Practice Problems
Draw your Triangles!

1. What is the mechanical advantage when a force of 8 N is applied to
_amachine that exerts a force of 24 N?
Formula Set-up Answer/Units

S

2..-What is the force applied on a machine that has a mechanical
advantage of 2 and a resistance or output force of 6 N?
Formula Set-up Answer/Units

3 Calculate the efficiency of a machine that moves a 540 N object a
distance of 4 m and has an input work of 3,000 J?
Formula Set-up Answer/Units

4. What is the output work of a machine that is 56% efficient when a 9N

force is applied over a distance of 6 m?
Formula Set-up Answer/Units
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Mechanlcal Advantage (MA) and Efficiency Practice Problems
o Draw your Triangles!

1 What is the MA of a machine that has an output force of 10 N and
-an input force of 5 N?

Fbi‘mula Set-up Answer/Units
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2. What is the output force of a machine with an input force of 2 N and a
~MA of 4 N?

Formula Set-up Answer/Units
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, 3. Cilculate the efficiency of a machine with an output work of 5 J and
o »F()rm ula .

Set-up Answer/Units

e

- 4“ Dét‘fermine the efficiency of a machine that as an output work of 10 J
and an input work of 15 J.

Formula Set-up Answer/Units




